Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

546 + 423 =

317 -180 =

451+116=

- 100 =150

16 + 4 =
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54 children get on a coach. Feidd

23 of them are girls.

How many are boys?

The coach leaves school at this time. 9:30

It gets back to school three hours later.

At what time does it get back?




Q7.
Tick (v) in each of the pentagons.

Q8.
Vijay has these t-shirts and shorts. =
red

He can choose which t-shirt and shorts to wear. —. _—
Complete the table to show all the different ways.

One has been done for you. —

Z 7o
t-shirt | shorts

R B




Q9.

Each side of the number balance has the same answer.

Write in the missing number.

5 x 100-70
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Q10.
Five children share a bag of cherries.

Each child gets 6 cherries.

There are 3 cherries left over.

How many cherries were in the bag altogether?




